

FEE STRUCTURE CLASS NUR, K.G. & PREP (2024-2025)

1	1 Registration Fee		1200
2	2 Admission Fee		45,000
			- <u>20,000</u>
			25,000
3	Tuition Fee	Monthly	Quarterly
	6,600		19,800
	TOTAL		46,000

Any Fee once deposited will not be refunded in any case

*SIBLING CONCESSION - IN FEES OF ELDER CHILD PER MONTH.

CLASS	WAIVER IN PER
	MONTH FEES
	(RS.)
NURSERY , KG , PREP	550
I-IV	800
V-VIII	850
IX	900
X-XII	950

Call for Admission Query 0120-4558452 +91-7065039931

Website- www.schillerschool.org





FEE STRUCTURE CLASS I - II (2024-2025)

1	Registration Fees (One Time)		1,200
2	Admission Fees (One Time)		45,000
			-20,000
			25,000
		Monthly	Quarterly
3	Fees	8,600	25,800
	Total		52,000

Any Fee once deposited will not be refunded in any case

*<u>SIBLING CONCESSION - IN FEES OF ELDER CHILD PER MONTH.</u>

CLASS	WAIVER IN PER
	MONTH FEES
	(RS.)
NURSERY , KG , PREP	550
I-IV	800
V-VIII	850
IX	900
X-XII	950

Call for Admission Query Admission Helpline No. - +91-7065039931 Front Desk - 0120-4558452

E- mail – <u>social2@schillerschool.org/</u> info@schillerschool.org Website- www.schillerschool.org





FEE STRUCTURE CLASS III - IV(2024-2025)

1	Registration Fees (One Time)		1,200
2	2 Admission Fees (One Time)		45,000
			-20,000
			25,000
		Monthly	Quarterly
3	Fees	9250	27,750
	Total		53,950

Any Fee once deposited will not be refunded in any case

*This Fees Includes- Air Conditioning, Childopedia, Educational/excursion/Trips, E-Newsletter/School Magazine, Building and Maintenance, Technology, Sports and labs, Awards/Annual Function/Certification and Tournaments.

*SIBLING CONCESSION IN FEES OF ELDER CHILD PER MONTH.

CLASS	WAIVER IN PER	
	MONTH FEES	
	(RS.)	
NURSERY , KG , PREP	550	
I-IV	800	
V-VIII	850	
IX	900	
X-XII	950	

Call for Admission Query 0120-4558452 +91-7065039931

Website- www.schillerschool.org





FEE STRUCTURE CLASS V-VIII (2024-2025)

1	Registration Fees(One Time)		1,200
2	Admission Fees (One Time)		45,000
			-20,000
			25,000
		Monthly	Quarterly
3	Fees	9,350	28,050
	Total		54,250

Any Fee once deposited will not be refunded in any case

*This Fees Includes- Air Conditioning, Childopedia, Educational/excursion/Trips, E-Newsletter/School Magazine, Building and Maintenance, Technology, Sports and labs, Awards/Annual Function/Certification and Tournaments.

*SIBLING CONCESSION IN FEES OF ELDER CHILD PER MONTH.

CLASS	WAIVER IN PER
	MONTH FEES
	(RS.)
NURSERY , KG , PREP	550
I-IV	800
V-VIII	850
IX	900
X-XII	950

Call for Admission Query 0120-4558452 +91-7065039931

Website- www.schillerschool.org





FEE STRUCTURE CLASS IX (2024-2025)

1	Registration Fees (One Time)		1,200
2	Admission Fees (One Time)		45,000
			-15,000
			30,000
		Monthly	Quarterly
3	Fees	9700	29100
	Total		60,300

Any Fee once deposited will not be refunded in any case

*This Fees Includes- Air Conditioning, Childopedia, Educational/excursion/Trips, E-Newsletter/School Magazine, Building and Maintenance, Technology, Sports and labs, Awards/Annual Function/Certification and Tournaments.

*SIBLING CONCESSION IN FEES OF ELDER CHILD PER MONTH.

CLASS	WAIVER IN PER
	MONTH FEES
	(RS.)
NURSERY , KG , PREP	550
I-IV	800
V-VIII	850
IX	900
X-XII	950

Call for Admission Query 0120-4558452 +91-7065039931

Website- www.schillerschool.org





FEE STRUCTURE CLASS X (2024-2025)

1	Registration Fees (One Time)		1,200
2	Admission Fees (One Time)		75,000
			-35,000
			40,000
		Monthly	Quarterly
3	Fees	10,300	30,900
	Total		72,100

Any Fee once deposited will not be refunded in any case

*This Fees Includes- Air Conditioning, Childopedia, Educational/excursion/Trips, E-Newsletter/School Magazine, Building and Maintenance, Technology, Sports and labs, Awards/Annual Function/Certification and Tournaments.

*SIBLING CONCESSION IN FEES OF ELDER CHILD PER MONTH.

CLASS	WAIVER IN PER
	MONTH FEES
	(RS.)
NURSERY , KG , PREP	550
I-IV	800
V-VIII	850
IX	900
X-XII	950

Call for Admission Query 0120-4558452 +91-7065039931

Website- www.schillerschool.org





FEE STRUCTURE CLASS XI (2024-2025)

1	Registration Fees (One Time)		1,200
2	Admission Fees (One Time)		45,000
			-10,000
			35,000
		Monthly	Quarterly
3	Fees	10,500	31,500
	Total		67,700

Any Fee once deposited will not be refunded in any case

*This Fees Includes- Air Conditioning, Childopedia, Educational/excursion/Trips, E-Newsletter/School Magazine, Building and Maintenance, Technology, Sports and labs, Awards/Annual Function/Certification and Tournaments.

*SIBLING CONCESSION IN FEES OF ELDER CHILD PER MONTH.

CLASS	WAIVER IN PER	
	MONTH FEES	
	(RS.)	
NURSERY , KG , PREP	550	
I-IV	800	
V-VIII	850	
IX	900	
X-XII	950	

Call for Admission Query 0120-4558452 +91-7065039931

Website- www.schillerschool.org





FEE STRUCTURE CLASS XII (2024-2025)

1	Registration Fees (On	1,200	
2	Admission Fees (On	80,000	
			-30,000
			50,000
		Monthly	Quarterly
3	Fees	10,800	32,400
	Total		83,600

Any Fee once deposited will not be refunded in any case

*This Fees Includes- Air Conditioning, Childopedia, Educational/excursion/Trips, E-Newsletter/School Magazine, Building and Maintenance, Technology, Sports and labs, Awards/Annual Function/Certification and Tournaments.

*<u>SIBLING CONCESSION IN FEES OF ELDER CHILD PER MONTH.</u>

CLASS	WAIVER IN PER	
	MONTH FEES	
	(RS.)	
NURSERY , KG , PREP	550	
I-IV	800	
V-VIII	850	
IX	900	
X-XII	950	

Call for Admission Query 0120-4558452 +91-7065039931

Website- www.schillerschool.org